VEAR 10 — GrOMETRY. ..
@xrlo_mls Qﬂ@'@S and bedrings

| What do | need to be abk to do?

I By the end of this unit you should be able
to:
I

Cardinal directions: the directions of North, South, East, West
Ongle: the amount of tum between two Ines around their common point
Bearing: the ange in degrees measured clockwise from North

| |
| |
| |
| |
Understand and represent bearings : :
| Perpendcular: where two ines meet ait 90° I
| |
| |
| |
| |
| |
| |

* Measure and read bearings

|

|

|

|

|

|
* Moke scok dmings Using bearings : Paralel straight Ines always the same distance apart and never touch They have the same gradent

|

|

|

|

|

Clockwise: moving in the direction of the hands on a clock

Construct: to draw accurately using a compass, protractor and or ruler or straight edge
Scdle: the ratio of the length of a draning to the length of the redl thing

Protractor: an instrument used in measuring or draning dngles

» Solve bearings problems using

[

|

I

| ¢ Cadculate bearings using dngje rules
I

: Puthagoras and trigonometry

|

| Measure andes to 150° €@ Draw angles up to 130° @ IOn le NOLGHION 1 it e e ot 0'

05\3(@ | | Draii & 35° angle Make @ mark . 35° vith g perci | | The arc represents the part of the ange
W« o
Read from 0° on | | B /

the base e | | Qng Jointo the an@[e point (use a | |

Remember to se | | ) | | e ¢

estimation This s V i

an obtuse angle I / | : Ongke Notation: three letters ABC This is the angke at

I
so between 90 © I

B-113°
and 180 ° : | ’ Wz = | | £ABCs ako used to represent the angle at B
I
| e
Make sure the cross I Make sure the cross is dt the end
| The base Ine folows is at the point the | of the Ine (where you want the Scale dfan_' 2 o
| the Ine segment two lines meet I | angke) The ange J|

For every em on the model there are
20cm in real Ife

UﬂdefStOnd md fepfeseﬂt bwﬂno)s The angle indcated starts from the North ine at O

and joirs the path connecting 0 to B

* (O bearing is alays measured N
from NORTH

o tis awaus guen as three This angle shows the bearing of B from A
figures N

Remember: Scake drawings ONLY change lendgths and distances.
Ongles remain the same

The bearing of B from O is A
cacuiated by measuring the The senterce... Bearngof ____from ____ S
highlighted angle B really mportart in identifyng the. bearing being
represented
Using estimation it is clear this angle is between 090° and 180°
e
______________________________________________ 1
| Measure and read bearings |1 Scale, dravings Using bearings Remembes — arges DO NOT
| | I
| | change size in scaled drawings |
| [ The bearing of the cow to the bam } : | N |
I
I Ths ange 15 measured from NORTH | The bearing measurements do not change. from “real Ife” [
| N 4 |t s measured in a clockwise drrection I to mages ’ ® |
I 7 Estimation ndcates this angle s between 180° and 270° I I The units in the ratio |
| Use a protractor to measure accurately | scale are the same. |
| Remember: bearings are written as three figures | | 5 |
ﬂ | Gem = 30km
W < | The scale may need to be caculated from the mage |
| The auxiiary Ine. s drawin to help you measure and draw | ‘\ Ths represerts 30m from P to 04— | 63000000 |
the angke that is measured to represent the bearing | | |
- - | ._ _______________________
Y- - - S o S o o S T S S S o o o o T === =—=—
. . |
: Beam&ls with W\@k’, rules [ Because two North Ines are POROLLEL.... } || Beaﬂnoﬁ Wlth ﬂ@ht‘mled @eOmeth Look for Right-angles |
N | ) Pythagoras
| ) N N \ | : Due Wigft.;lmo sty %f)eo%g‘g Trigonometry (Sin, Cos, Tan) :
I bearing N
| & 110° 110° 1 mtes o 20° okes o 10 Dorit forggt e 90° here too |
| n , I ange ande |
G G I A0km I
| G
I They form [} 0 plare fles East for 20km e |
| Oﬂlgemdg They form co-intedor They form akemate I then tums South for Bkm Use tan™ (23 to cabuite 13 |
anges an andes and god up to angles and therefore are I Find the bearing of the plane chO \ ‘ I
| therefore are the 180° the same size | I from where it took off s ange
| same size |
S - - ___F_ ]
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Working with circles

_____________ A | |
| What do | need to be ble to do? :. ords .
I o
| By the end of this unit you should be dbe | : Circumference: the length around the outside of the circle — the perimeter :
I o || Orea: the size of the 2D surface I
| ° R“O@mfmd obel parts (‘)f acice 1 | Digmeter: the dstance from one sice of a circle to another through the centre |
I EQEU:“? tLO()J\UOﬂ?LP&{(J{S of 4 circe : | Radiss: the distance from the certre to the circumference of the circle I
| deue the engih ot an are | Tangent: a straight Ine that touches the circumference of a circle |
| » Cakulate the areai of a sector I _ |

Chord: ai ine. segmert connecting two points on the curve

|« Understand and use volume of g cone, I | |
| cufnder and sphere | Frustrum: a pyramid or cone with the top cut off |
|« Understond and use surfoce areaof o | | Hemisprere: balf a sphere I
| cone, cyinder and sphere || Surface area: the total area of the surface of a 3D shape I
|—:::::::::::::I_I— ——————————————————————————————————————————————————————————————— !

Parts of a cice @ et bar f | : | Fractional parts of a circk. (Oudsmposn) ot

th e rea ot a Circe = Tr
@ frsma{f«o 22?6 : | 30° represents = of a ful cick Circumference of ai circle = wd or 2mr
> I
9 | W

diameter-

W

I
I
: I
I
I
I |
Segment (part | I 270 The fraction of the circk is as %
of thecice | I s of a ful circle (in degrees) |
3
made from a | | P 2 of afulcircke 0 represents the degrees in the |
chord) | | 5 of aful cicke (n equdl parts) sector I
I
I

Creumfererce On arc s a part of the | I
L circumference | | |
e — — — = o = — o — — — — — —_- e e e | T e e e e e e m  m m m  — — — — — — —
| S Remember a sector is part of a circle I
| Qrc |en th Remember an arc is part of the circumference | (’,Ctor area oracc _
| 46_ Circumference of the whoke circk = d = X 9 = 91 i Oreaiof the whok cick = rr® = m X 62 = 361 :
1/ o, S240 09 I:- 120°. \ 0 -2 36m I
Lo 360~ O RSy Sector area = 5 X area of cick 360
' |
1N B, Orc length = == xcxrcumferenoe 1 7 Uy 36 - 120 |
--- -=X9mw -6 |l -7 Ty Xoom Zlem
| 3 3
I I
| Perimeter |
| Perimeter is the length around the outside of the shape | L — _I.
| his includes the arc length and the radi that encloses the shape | | volume Of 4 Core md a CUllndef :
I N I
| Perimeter xcvcumfereme +& | -6m+9 I [ Volume Cyfinder- 772 } Ej Vobme Core = nr 2p ] |
}_ —_—_—_—_—_—_—_—_—_—_—_—Tj_—_—_—_—_—_—_—_—_—_—I | 0 cuinder i g prism — cross section & a circle 0 cone 1s a pyramid with a circular base :
| Volume. of a sphere / \-\, [ Volume Sphere = g mr3 | I ﬁ |
I o l&-'-—;i ey | | —— V = nr?h 4 The height of a cone s |
_4 3~/ NOEThssnowacubedude || _ 2 the perpendcular height
: @ Vobme Sphere nr - ) on X ‘1165; 10, from the vertex to the :
_4 3 Look out for | =mnX bose
I 3 txmx3 |
hemispheres being | ) — 2 d |
: -Ixmx27 -36n ploced on other 3D |: — =160z em Lok ot for & ; I
shapes, eg cones and 1 Ge , ook out for trigonometry or |
your answer in terms of 7t
| O hemssphere s haf - 3677 = 2 cylinders | _ 9 Pythagoras theorem — the radius
| the vobme of the g > | | means NOT in teqms of pi = 502.7cm forms the base of a right-angled I
| overdl sphere - 18w | I trange |
_______________________ e - ]
______________________________________________ -

Surface area of a sphere [ Suftce red = 2 } Surface area of cones and culinders

Surface area = 4mr?

I

I

0 hemsphere has the curved ::[ Surface area cyinder= 2mtr? + mdh [ Curved surface area Cone = rrrl } I
surface OND a flat circular

fce I | D Look out for the use of Pythagoras to :

@ I| cacute the ngih | I

I

I

I

I

-4 xm X572
The area of two circes (top and bottom face the area Total surf -
4 XTX25 . o= | olal surtace drea
The curved 1007 =2 = 507 I of the curved face curved face + circle face (area of base)
- —_ |
suface area 100z = 50m +m X 52 |I =
of asphere Hemisphere = 751 | | The length of shape B is the circumference of the circles
e e e e o I_ ___________________________ -
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o Draw and understand addtion and
Subtraction of vectors

r-r—-——-—-—""""">""—"—"""—"= A

| What do lreedtobe bk todo? | Heywords |
: By the end of this unit you should be able : : :
| to: N Direction: the line our course something is going |
| ° Understand and represent vectors | agnitude: the magnitude of a vector is its kngth |
| * Useand read vector notation || Scalar: a single number used to represent the multpler when working with vectors |
|+ Draw and understand vectors muftipled | | Cobmn vector: a matrix of one cobmn describing the moverment from ai point |
| byascar 1| Resutant: the vector that s the sum of two or more other vectors I
|+ Draw and inderstand addtion of L1 Pacale straight Ines that never meet |
| vectors I |
I : | |
| I I I

I | vector is in the opposite direction to b which
(! needs a scalar of - |

L __ e |
T 1
| Understand and represent vectors [ Vectors show both direction and magnitude J I
: Column vectors have been seen in translations :
| to describe the movemert of one image onto The arrow is pointing in the direction from The direction is important to I
| another starting point to end point of the vector correctly write the vector |
| Movement dlong |
| the xos —> 4 The magnitude s the kength of the vector The magritude staus the |1
_ 3) — (This s calculated using Puthagoras theorem and | same even  the direction |
Movement dlong forming a right-angled triangle. with duxiliary nes) changes |
| the y-axis I
rtlelpeeelipeeelfpeeelfpeeelipeeelipeeelipeeelipeeelipeeelipeeereeel el —_—_—_—_—_—_—_—_—_—_—_—_—_—_—_—_—_—_—_—_—_—_—_—_-.'I
: Understand and represent vectors I : Vectors mutlipied by a scalar |
| Vector rotation DE s another : | I
I way to represent the. vector I [ Paralel vectors are scalar muttiples of each other ] I
| g Joining the. point. D to the point E | | |
| D ﬁ:(_g) || b-2 Xc=2c :
I -1 I : Mutticly € by 2 this becomes b. I
: / e o | The two Ines are paralel I
| E direction from pont D to port £ | | b |
l |
I (! a--1 xc=-c |
: Vectors can ako be written in bold lower _ (1) | : a The vectors a and ¢ are ako |
| case so g represents the vector 2 | | a pardlel O neggtive scalar causes |
I_______________________|I the vector to reverse direction I
o T T T T T T H |
| Oddition of vectors h |
| :I (_1) (2) 1 b--2 xa=-2a I
| (3 = (2 AB + BC 15 b=\, c=(_2) '
|| B ) BC-( %) :I 2 :
: L A :
- I " .
! 1 Oddition and subtraction of vectors |
| ( 3+2 ) (! I
= _(5 (0
| B 1+—4 1 a-(3)  b-(y) ,
| 5 I | a :
A AC — |
| AC = ( 3) 1 S+ —0\_(5)]
- +(—b)- =
: 1 |- (=b) (1+ ") (—4)|
I c Look how this addition compares | | :
| to the vector AC : I a+ (—b) |
I / . 5 | I =a—>b |
: The resutant AB + BC = AC = ( 3) (! The resutant s @ — b because the |
- I
l |
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OPORTION. ..

Ratios and fractions

[mm e ——— — — —
| What do | need to be abk to do?

1
I

I I
By the. end of this unit you should be able to: |

» Compare quartities using ratio I

*  Link ratios and fractions and make |
comparisons :

*  Link Ratio and scales and graphs |

+ Solve problems with currercy conversions :

I

|

|

* Solve best buy’ problems

I

I

I

|

|+ Share ina gven ratio
I

I

I

: *  Combine ratios

I

I

I

I

| - +  Form a straght Ine
| = + Pass through (0,0)
I

I

I

I

|
|
Ratio: ai statement of how two numbers compare :
Equivalert: of equal vale |
Proportion: ai statement that links two ratios I
Integer: whole number, can be posttive, negative or zero |
Fraction: represents how many parts of a whole |
Denominator: the number below the Ine on a fraction The number represent the total number of parts |
Numerator: the number above. the Iine on a fraction The top number Represents how many parts are. taken :
Origin: (0,0) on a graph The. point the. two axes cross |
Gradiert: The steepness of a ine |

Il The car image is ﬂ
Il 10cm

James: Lucy —
(:50 3.4 @D:D } -
£150£200 [TTT]

|
I
I
I
[l I James = 3 x £50 = £150
I
I
I
I
|

N - |

A T T T T T T T T T L . T T T T T T T o T T T

| Compare vith ratio @ || Ratios and fraction @ | Sharing a whok nto aiven @ |

| "For every dog there are 2 cats” | | Trees U ralio | ames and Luey share £350 nthe I

| m | | Trees Flowers  ——=— =1 oo 34 |

| Dogs: Cats Units have : i 3 , 7 sl Work out how much edch person earms I

| . teteol | || 0 B enoste o |

: The ratio has to be written inthe | the same | I Fraction of trees Floviers (I James: Lucy I
same order as the. information 18 vake to I I | D:EI

| g || Yo 21 3.4 popm

| glien g | | Nomber of parts of in group 3 g : |

| €9 A1 would represent 2 dogs for | | | ™ Total romber of parts 0 S || | Lucy I

| every |cat ] A | " Find the vaibe of one part |

—_::::::::::::::: _—_ﬂ:__-::::::::::::: : Whoke: £350 £350~ 7= £50 |

Ratlo and Waphs o Ratlo and Scak’, o 7 parts to share between D = one part |

: : (3 James, 4 Lucy) = £50 |

. Graphs with a corstart ratio are . . |

: directy proportond I O picture of a car s drawn with a scale of 130 Put back into the question |

I

I

I

I

|

[

1

\ mage. - Redl ife
The gradent is the constant ratio : : < g| em - 3o Dg
t = loem - 300m | Luey - 4 x £50 - £200
| Conversion belveen currences @) Sj== BE= i || Ralosin Inandn|  estmmbundon
| o L S - | : Ratios in tn and | wntil the part indicated represents | :
| £1=90 Rupees 4——— Currercy is drectly proportiond I I Show the ratio 4:20in the ratio of In |
: For every £ o El-d0Rupees N o : | |
[ have. 90 Rupees - < The question states . |
I < I | trt th port s to 4. : 20 This side has to
£10 = 900 Rupees be dhiced by 4 I
I Currercy can be converted ’ I be. | it 00— to keepin |
[ Using & conversion gyaph Il thffmi |5 proportion
| g Convert 630 Rupees into Pounds | | e By I
| =900 ---~ / I | the n part does not have to be an integer for thi tupe of queston |
I o . o — — — — — — — — — — — — — — — — -
| o EIORRSN  —630-d0-7 [T e e 1
I 10 Pounds = ) I I Comb‘nﬂ E’ ratlog %. .R. G I
I_ e _£7_<_GSO_RL£%S_ e _I | The ratio of Blse courters to Red courters s 573 :0 L I
I B?,St [Zl Mg //’/ You could work out how : : The ratio of Red counters to Green counters is 2 | o® © :
| / /4 much 40 pens are and | |
e 0]
I g ;(// ///2/ then compare : | Ratio of Bloe to Red to Green :... .O.o .o.. % |
I " Compare the soltion in the (! ® oo |
: | 4 pers costs £260 | | 10 pens costs £600 | context of the guestion I | IO : 6 : 3 |
I g The best valve has the | I U ert ratios o i T |
| S PN £260+4-£065  £600 + 10 £060 lowest cost “per pen” || Se eqUvarnt ralios 10 Glow |
) costs.... e bect vabe means £1 |1 COMPASON of the group that is &ﬁgeﬁtcogﬁor{w;ntw?ﬂwk tof |
= “l-pound o vaue m ratio both statements
| 4= bU:s 4+ 260- |54pens 10+ 6= 167 pens s you more pers | : common to both statements e :
|—_—_—______________________Il— ——————————————————— —
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Bg the end of this unit you should be able to:
Convert and compare FDP

*Work out percertages of amounts

*  lIncrease/ decrease by a gven percentage
*  Express one number as a percentage
Calculate. simple and compound interest

*  Cdculte repedted percentage change

* Find the original value

+ Solve problems with growth and decay

Mukiplier: the number you are muttiplyng by
quivalent: of equal valve

m

Percentages and Interest

|
| |
| I
: Exporent: how many times we. use a number in muttipication ft is written as a power :
| Compound interest: calculating interest on both the amount plus previous interest |
| Depreciation: a decrease in the valbe of something over time I
| Growth: where a vale increases in proportion to its current vale such as doubing |
| Decay: the process of reducing an amount by a consistent percentage. rate over time :
|

I I
I |
I |

: Compare FDP o Comparsors are easer n the same format. | :I Fraction/ Percentage of amount o :
70 out of 100 I £60
I 10 This dko g squares ——» 30 l;)und@d’[hs Il 3 [t euTen JenJer ] I
I 100 nears 707 |y Find=of £60 |
i 70 "hundredths’ s <« |
| g 70 - 100 - 7 tenthe’ :, £36 I
| l Remember
calculator 07 I i 3. _ |
: Be careful of recurring decimals :: Rsememb” 07 of £60 - £6 57 007-06 |
I % —»| SZD | Convert to a decimal ¢ 1 ~03333333 I 5 507 of £60 - £30 60/ of £60 I
| 3 - (lv?) I| 007 of £60= £36 =06x 60 |
This wil give you the danswer \ x 100 converts The dot dbove the. 3 |I =£36 |
|n the simplest form to a percentace II_ |
______________________________________________ 3
| Percentase increase/decrease. ) 1| Express as a percentage |
| 100/ P 1007 LR 27 per every 50 7 54 per every 100 |
| > < >< > | shaed shaced B
| 777/ ] EE Y | ow |
| 42y Decrease by 587 Increase by 127 30 I
=
| 1007 -58/ - 427 Milpier 00/ + 12/ = 13/ Moliler = 2>« 100 |
| 100—055- 041 4— Lessthon | 00+0n-1 4 el 453335..7 |
o o _ , |
e T T T T T T T T T T T T T T T T T |-
| Can't use equudence 437 |
: Slmpk’, W\d compag’gii lntegflSt Compound Interest | £100 | Original amount: £ 100 @ :| easx%todfxnd ‘per |
Simple Interest z o 10% undred
| Smpie interest WUOO Tess nvests o ﬁ VIEI0 § . I: | Decimal percentages are stil a percentage :
I James vests £100 4t 107 s oo oo oo oo
| 2200045/ compord [0 o AEE ] £ I|
| The. original valoe increases interest for 3 g Flnd the Ofl@lmd Vak)e
simple interest 9 — ® |
I by this amount every year Years Y3£13A10) = || Percertoce cacutions
I— ——————————————————————————————
_______________________________ 11 [ orgnd —  find
| Repeated percentage change Deprecidion | ‘ oot~ U S

Depreciation caulations use multiplers less than |

| Compand iterest ¢ o0 (T lio (T 10 ]{ x10 | [

Tess invests £ 100
£100

cakuviated by combning the multiplers separately

at 107 compound

Muttiplers are commutative — an overall mutipler effect can be }

In a test Luey scored 607 of her questions correctly Her
score was 4. How many questions were on the test.

60%

|

|

|
I interest for 3 \ Number of eg hcrease of | Original x 06 = 24
I years occurrences 0/ thena I
| Original amount— Repegited mutipler reduction of 10/ The mutipler | 24 = 06 = 40 marks
oo =—=-=—=== 2| 0/ -6
_______________________________ A I
: Cronth and decay g H;OO/ ;ao £3000 with a profit of 207 Ho

Decay — the values get closer to O | car sokitor 6 pr vith g pr 7. How

| Compound gronth - Compound decay O(;r:zos:ri %i%th The constant muttipler s less than one | : mueh was the car originally?
| ‘ | | —— Original x 12 = 3000
| decay are Growth — the vaibes ncrease exponentialy | | | |
| exporential graphs The constnt multpter s more thanone | It - 120/ = £3000
I | I ' 0/ - £250
L* - H £3000 100/ = £2500
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| What do | need to be abk to do?

Probabilty

| Bg the end of this unit you should be able to:
Odd, Subtract and muttiply fractions
*  Find probabilties using lkely outcomes

Event: one or more outcomes from an experimertt
QOutcome: the result of an experiment
Intersection: elemerts (parts) that are. common to both sets

* ke probabity that sums to |

*  Estimate probabilties

Use Venn diagrams and frequency trees

»  Use sample space diagrams

* Cakulate probabiity for independent events
» ke tree dagrams

Expected Vabe: the value/ outcome that a predction would suggest you will get
Universal Set: the set that has al the elements
Systematic: ordering values or outcomes with a strategy and sequence

| |
| |
| |
| |
| |
| |
: Union: the. combination of elements in two sets :
| |
| |
: Product: the answer when two or more values are mutiplied together :
| |

—_——— e e e e —— ]

L __ e |
™ e e e — — — — i ———— e, e, e, e, e, e, e, e e e e e e 'I
: Odd, Subtract and muttiply fractions o ! leeliness of a probahlltu |
| (ddtion and Subtraction Muttiveation | I | | I I
| 4 2 3 2 I : Impossible Eveg chance Certain :
- —— ey Ve 2 p /
I 573 FREA I Qor0 05,5 or 507 R lor 1007
| m 3,2 6 ' I ™ b e, further up th be :
_ The more lkely an event the further up the probabity it wil be in comparison to
| 4— 3— = E : | another event (it wil have a probabilty closer to 1) |
| 12 10 2 e e e e e
= 15 = 1c Modeled! |
I l15—15] 15 SUm tO I Probabilty s alays a valve between 0 and | I
| 3 Total number of |
| Use equivalent fractions to parts in the diagram The probabilty of getting a blue ball s % |
| find a common mutiple for = The probabitty of NOT getting a bhe bal s g |
| both denominators L ) |
| 4 The sum of the probabilties is | |
| Experimental data I! Tables, Vern digarams, Frequency trees l
| > Frequency trees and two- I
: Treorelicd | o exect Lo hapren The more trigk that are | Frequency trees @ iy taes can shon the. |
probabilty completed the closer | 60 peopk vsited the z00 ore Salurday morrr § & sane nformaten |
I expeﬂmeﬁ’[m p(obabmtg I 26 of them were adults 13 of the adult's I
Experimental | What actualy happens when we |7 favourte anmal was an ekephant 24 of the
|| &P and theoretical I , »
babilt ‘Lrg it out | children’s favourtte animal was an elephant The total cobmns on two- |
| probapiily probabilty become | vy lobkes shor the. |
I The probabilty becomes more accurate with more triak : | Lo ok posst deromralors
L Theoretical probubilty is proportional | : Okt | Chd | Totd Ploat) - 22 |
I_::::::::::::::::::::::I Eephant 3 24 37 |
Samgle SPACE The possble outcomes from roling a dee I PlChkdwth f“"ou”tem I
| ; L | | Other 13 10 23 animal as elphant) = > |
| I
| £ 5 123 4|5]6 PlEwen = 3 : | Ll 40 34 60 :
s numper and T
: %é g H IH JH | 3H | 4H | OH oA toles) I;l : : \ern digaram :
S g T T {ar|ar]4r]| 57| 6l &[a B Ea—— 8 A
e ' @ @ O !
r—_————————— - —————— | I
Iﬂdepeﬂdeﬂt (’,Vé’,ﬂts : : nset A OND set B inset A OR set B nset A NOT inset A :
The outcome of two events happening The P (Aand B) | P@NB) P(AUB) P(4) P (&) I
outcome of the first event has no bedring on the P (A)x P (B) I__________________________________________________.I
outcome of the other = X
Tree. digayam for independert. evert | Pezendept deveg\tts The outcome of the first event has an impact on the
sobel has a bag with 3 ble counters and 2 yelow She picks a counter and replaces it before the second pick | (eet lgeyom Tor dependen second event
event

I

I

I

I

I

I

I Because they are repmw the second pick has the same probabilty

! o
I
I
I
I
I
I
|

O sock drawer has 5 black and 4 white socks, Jamie picks 2 socks from the draer
<’ s
— 5.4 _ 20
E;_ P (BW) *s T 72

g }—P(WB) Eon

5outof53a(eb\ue =P (BB) %xizi II Pk first sock
- o < . I
mbw =P (BY) 55 " 5
2< =P(YB) %i== |
AN < T
=P (YY) *=a I

( Velow )

l
\

@
N
@

I

I

I

I

NOTE: s “socks” are removed I
from the drawer the number I
I

I

I

I

I

I/ \ool &

of tems n that drawer s also
reduced - the
denominator is ako
reduced for the second
pick

TE -

Sum of probabities
Sum of probabilties




